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Part | Dialogue Completion (10 points)

Directions: In this part, there are 3 dialogues with 3 or 4 blanks, each followed by 4 choices marked
A, B, Cand D. Fill in each blank with the choice that best suits the situation until the dialogue is
complete. With Dialogue One, all the choices will have to be used. With Dialogue Two and Dialogue
Three, one choice will be left unused. Mark your answer on the ANSWER SHEET with a single bar
through the centre of the letter that indicates your choice.

Dialogue One

Woman: I don’t like riding buses.

Man: 1

Woman: They are seldom on time. 2

Man: Don’t they clean the bus every night?
Woman: 3 , but with too many passengers on them, they can’t be very clean.
Man: You should bring some wipes with you.
Woman: That’s a good idea.
Man: Then you can wipe your seat and window.
Woman: People will think I’ m strange.
Man: Who cares? 4
Woman: That’ s for sure.
Man: Don’t worry about what people think.
A. 1 think they do.
B. Why not?
C. Besides seats and windows are dirty.
D. Everyone is strange.
Dialogue Two
Tracey: Don’ t you have air-conditioning in your apartment? It’ s sweltering here !
Alice: Well,there’s air-conditioning. Did you see that window air-conditioner there? 5

Tracey: I guess not, huh.
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Alice: Well, I’ m going to move out anyway. The new apartment has central air-conditioning.
Tracey: 6
Alice: Well,I had to wait until the lease expired. So...
Tracey: 7
Alice; Well,I open the windows and...and I’ ve got an electric fan here. It helps a little.
A. This summer is unexpectedly hot.
B. So how can you stand the heat?
C. The problem is that the window unit is not powerful enough.
D. You should’ ve moved out long, long ago.
Dialogue Three
Woman: Do you get the Public Broadcasting System on TV?
Man: Yes, everybody gets PBS. 8
Woman: It’ s boring and often puts me to sleep.
Man: Tell me about it.

= RER T

FARAE, AT A

Woman: A cooking show follows a gardening show. 9 42 Eoe =] A
Man: I’1l say! Don’t they have any change? I & =
Woman: 10 h’ % 2

42 =] ¥:3

Man: We sure would like to see something new and interesting.

A. Now they’ re adding old TV shows to the old movies.
B. But I don’t watch it often.
C. And a travel show follows another travel show.

D. Different people have different demands.

Part [ Reading Comprehension (40 points)

Directions: There are 4 passages in this part. Each passage is followed by 5 questions or unfinished state-
ments. For each of them there are 4 choices marked A, B, C and D. Choose the best one and mark your an-
swer on the ANSWER SHEET with a single bar through the centre of the letter that indicates your choice.

Passage 1

Scientists said they have found evidence of a giant planet far out in our solar system. In a
statement, the California Institute of Technology—Caltech—said this planet travels a very strange
“long and thin orbit in the distant solar system.” The discovery was made by two researchers at
Caltech; Konstantin Batygin and Mike Brown. They used mathematical modeling and computer
simulations (#if]) to find the planet. So far, there have not been any direct observations of the
planet.

“My jaw hit the floor,” said astronomer (i i1 ) Mike Brown, the moment he realized
there might be a ninth planet.

The scientists said it would take this planet 10,000 to 20,000 years just to make one full orbit
around the Sun. The new planet, called “Planet Nine” , has a mass about 10 times the size of

Earth. If they are right, the newly found planet would be the ninth planet in our solar system. Plu-
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to (= F &) had been called the ninth planet until 2006, when it was renamed a “dwarf planet. ”

Actual confirmation of a ninth planet would be very big news. “This would be a real ninth
planet,” Brown said in the statement. “There have only been two true planets discovered since
ancient times, and this would be a third. It’ s a pretty substantial part of our solar system that’s
still out there to be found, which is pretty exciting. ”

While they did not get a picture of “Planet Nine” yet, the scientists say they are using the big-
gest—and best—telescopes on Earth to try to find “Planet Nine. ” They are also working on impro-
ving their computer simulations. They want to find out more about “Planet Nine’s” orbit, and its
impact on the outer part of our solar system.
11. The newly-found planet

A. moves around the Sun B. was discovered by two astronomers
C. travels around orbit D. is far away from our solar system
12. The possibility of finding a ninth planet made Mike Brown
B. frightened C. satisfied

13. According to the scientists,

A. confused D. surprised
A. the planet is ten times larger than the Earth
B. it takes the planet less than 10,000 years to make a full orbit
C. Pluto was once thought to be the ninth planet in the solar system
D. Pluto was given a new name after it was discovered in 2006
14. It can be inferred from Paragraph 4 that
A. there is no actual confirmation about the ninth planet
B. no true planets were discovered in ancient times
C. scientists have found three planets in modern times
D. the ninth planet is the only one discovered since ancient times
15. To find “Planet Nine” , scientists are using all the following EXCEPT
A. mathematical modeling B. computer simulations
C. advanced telescopes D. large spacecrafts
Passage 2

“Helicopter parenting” describes a style of raising children where parents are over-protective
and do too much. The term was used for the first time in the late 1960s. It describes parents who
hover (E:f5) over their kids like a helicopter. Today, modern technology allows these helicopter
parents to hover from even far away. They can give their children directions at any moment from
anywhere.

Author Julie Lythcott-Haims wrote a book titled How to Raise an Adult. In her book, she
gives readers a closer look at this parenting style.

“Over-parenting” , she says, “comes in three types: the first is the over-protective parents
who think the world is scary and unsafe and unpredictable. And therefore, I must protect and pre-
vent. The second type is the over-directive type—the parent who says, I know best what leads to
success and you will do as I say. You’ll study these topics, do these activities and you will be
highly achieving at all of it. The third type is the concierge (&[] A\ ) —the parent who just wants

BEAA(—) B3R (X8 TR)

to make life smoother—from waking their kid up, to keeping track of their deadlines, to making
sure they haven’t forgotten anything, to even doing the homework for the kid. ”

Julie Lythcott-Haims says she experienced the effects of helicopter parenting firsthand when
she worked as dean of first-year students at Stanford University. The incoming students were very
smart and accomplished on paper. But many were unable to take care of themselves.

“They were turning to parents constantly for guidance, for problem solving, to have them
make the choice about something. ” Often times, Lythcott-Haims had to remind those parents that
their kids were old enough to take care of themselves.

16. The term “helicopter parenting”

A. describes parents who give children directions in the air

B. was probably invented in the late nineteenth century

C. gains more meaning as modern technology develops

D. refers to parents who concern too much about kids
17. According to Lythcott-Haims, over-parenting has all the following features EXCEPT
A. over-directive B. over-dependent
C. over-preventive D. over-protective
18. It can be inferred that a concierge mother will

A. regard the world as very dangerous

B. allow children to do whatever they like

C. keep a close eye on the kid’ s assignment

D. let the kid alone when he falls on the ground
19. In Julie’ s eyes, the first-year students at Stanford University are

A. very clever in studying B. really good at problem-solving
C. unable to communicate with teachers D. having problems in making friends
20. Lythcott-Haims’ attitude towards helicopter parenting is

A. supportive B. negative C. uninterested D. unclear
Passage 3

Half of the world’ s coral reefs ( H}ffif ) have died in the last 30 years. Now scientists are
racing to ensure that the rest survive. Even if global warming were to stop right now, scientists pre-
dict that more than 90% of corals will die by 2050. If no major steps are taken to address the
problem, the reefs may be headed for total extinction( K4 ).

The planet’ s health depends on the survival of coral reefs. They are often described as “the
rainforests of the sea” , because they provide shelter for a wide variety of sea life. In addition, the
reefs serve as barriers that protect coastlines from the full force of powerful storms.

Coral are used in medical research for cures to diseases. They are key to local economies as
well, since the reefs attract tourists, the fishing industry, and other businesses, bringing in billions
of dollars.

Corals are particularly sensitive to changes in temperature. A rise of just 1 to 2 degrees can

force the corals to drive out the algae ( 7K 3 ). Then the corals turn white in a process called
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“bleaching”. Corals can recover from short-term bleaching, but long-term bleaching can cause
permanent damage. In 1998, when sea surface temperatures were the highest in recorded history,
coral reefs around the world suffered the most severe bleaching. It is estimated that even under the
best of conditions, many of these coral reefs will need decades to recover.

Although reefs face other threats from pollution, industrial activities, and overfishing, it is
global climate change that most concerns scientists. Scientists remain hopeful that it’ s not too late
to save the reefs, and some are moving ahead on experiments to accomplish that goal.

21. Which of the following is the best title for the passage?
B. Rainforests Are in Danger
D. Global Climate Change
22. The word address in Paragraph 1 is closest in meaning to

A. break down B. stick to

C. go over D. deal with

23. Why are coral reefs called “the rainforests of the sea” ?

A. Rising Global Temperatures

C. Coral Reefs Face Extinction

A. Because they are home to a wide variety of sea life.
B. Because they can protect our coasts from storms.
C. Because they might supply natural medicines.
D. Because they look like rainforests.
24. The corals turn in the process of “bleaching”.
A. red B. black
25. According to the passage,

C. green D. white
is the biggest threat to coral reefs.

A. pollution B. overfishing
C. industrial activity D. climate change

Passage 4

Over the years, college students have stood together for what they believe in, from civil rights
to anti-war policies to the more recent protests against the unequal distribution of wealth. But no-
where in history have students banned (2% |- ) bottled water. Until now.

The bottled water ban, which started on just a few campuses, has now spread nationwide to
more than 20 universities. The colleges have either completely banned the use of plastic bottles al-
together, or some have taken a more limited approach with partial bans.

Many people believe that producing and using bottled water wastes money and harms the envi-
ronment. They say that bottled water is unnecessary because public water supplies in the U. S. are
among the best in the world. Water fountains and reusable bottles with easy access( #HX) to filling
stations are a better choice.

An organization called Ban the Bottle raises awareness about the economic and environmental
costs of using plastic bottles. The group claims that eight glasses of water a day costs each person
49 cents annually, while drinking from plastic containers costs $ 1,400 per year. Plastic bottles
contain antimony—a chemical that in low doses causes depression, but in large doses can even lead
to death.

The controversy over bottled or tap is not limited to the students and college administrations.

BEAA(—) FS5H (X8 TR)

The makers of bottled water see the movement as a threat. They argue that plastic bottles make up
a small portion of the nation’ s total waste. It’ s unfair to single out( 5.k H!) their product when
so many other items are packaged in plastic containers. Plus, water is a healthy choice compared to
some sodas and juices that are also sold at school.
26. Which of the following is the main idea of the passage?
A. Many universities ban or restrict the sale of bottled water.
B. Many states ban or restrict the sale of bottled water.
C. The bottled water industry is concerned about its decreasing sales.
D. Many people are opposed to the bottled water ban.
27. According to Ban the Bottle, drinking bottled water costs
A.8 B. 20 C.49

28. The word controversy in Paragraph 5 is closest in meaning to

dollars per year.
D. 1400

A. choice B. control C. argument D. statement
29. What does the bottled water industry use in its own defense?

A. Bottled water is much cleaner than tap water.

B. Students should have freedom of choice.

C. The bottles are made in a more environment-friendly way.

D. Water is healthier than some sodas and juices.
30. According to the passage, which of the following statements is TRUE?

A. All the universities have banned the sale of bottled water.

B. Plastic bottles may do harm to people’s health.

C. The purchase of soft drinks will increase.

D. Bottled water is cheap and environment-friendly.

Part [ Vocabulary and Structure (20 points)

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices
marked A, B, C and D. Choose the ONE answer that best completes the sentence. Mark your answer on
the ANSWER SHEET with a single bar through the centre of the letter that indicates your choice.

31. Their different attitudes to the difficulties different results.

A. arrived at B. led to C. caused by D. turned out

32. The ATMs enable bank customers to access their money 24 hours a day ATMs are lo-
cated.
A. wherever B. whenever C. however D. whatever

33. If the work
heavily fined.

by the end of this month is delayed, the construction company will be

A. is completed B. to be completed

C. will have been completed D. will be completed

34. If you travel through the villages in the small local buses, you will swiftly come into close
with the local people.

C. choice D. circuit

A. carriage B. contact

BEFAA(—) H6TR (£8 W)



. It’ s hard to remember a name when one doesn’t have a face to go with ; 47. What’ s the matter with you? You so pale.

A. him B.it C. her D. one A. are looking B. look C. have looked D. looked ' '
. Scientists estimate that about 530,000 other objects, too small to detect with radar, 48. With the guide the way, we set off on foot into the dark night. ' :
the Earth too. A. leading B. to lead C.led D. being led ' '
A. being circled B. are circling 49.1 tore open the box, only that some papers were missing. ! '
C. are to be circling D. are being circled A. discovering B. to discover C. discovered D. discover ' '
. In of speed, safety and price, the hi-railway system is perhaps the world’ s model 50. Either my parents or my elder brother going to water the garden. O
railway. A. are B.is C. has D. have P
A. terms B. case C. need D. search . . ]
. Never before seen any lady who can play tennis as well as Maria. Part N Translation ( 15 pOll’ltS) ' '
% 1. 1 B, R il -l ke D1 s Directions: Translate the following passage into Chinese and put your translation on the ANSWER ! !
. Young people are redefining for themselves _ it means to be a man or a woman. SHEET. ' I
L Trzge Ttk -~ wiaih Ik, EpiE With China’ s reform and opening up, many young people tend to hold Western-style wed- I I
i it thie: e wil 5 mew Gies, oo condifiony sheooid Te comsideel. dings these days. The bride wears a white wedding dress at the wedding, because white is consid- O
K E. Whigh C. &8 2. Thet ered as a symbol of purity. However, in traditional Chinese culture, white is often used in funer- I '
—'the manager will eome or nof doesn” £ maiter mueh. als, so be sure to remember that white flowers must not be used as a gift to the patient, especially ' '
#a Whether B That I D What not to the seniors or patients in critical conditions. Similarly, the cash gift cannot be packed in a ' !
. The American and the British a large number of social customs. white envelope, but in a red envelope. | |
A. join B. take C. share D. make -
. Martin, when you go to the meeting tomorrow, your iPad with you. Part V Wl’iting ( 15 points) | |
A. bring B. take C. fetch D. put Q
It is a three-storey house and the kitchen is on the - Directions: For this part, you are allowed 30 minutes to write a composition on the topic: The Best i i
A. ground B. earth C. soil D. land Place I Want to Go. You should write in no less than 100 words, and base your composition on the i i
. The kids were especially the coming Christmas because they would get lots of pres- outline given in Chinese below: | |
ents from their parents and uncles. 1. BUAEVE 22 NARE SN RIT , VR foe Bk 25 B 7 A2 07 7 =
A. coming up with B. looking forward to 2. 47 ; ;
C. making up for D. getting rid of ; :
. The used car I bought cost four pounds. Q
A. thousands B. thousand of
C. thousands of D. thousand
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Part |
Dialogue One
1 [&E£]B.
[ AT ] XS — L LA ERF AT E . BT — R L LUl A IR RN, Bt
ATHER, 2 1 %R B R A AR ENSR A IR . Tk B,
2. [ER]C,
(BT ] 25 A% B2 L Bt AN B R A VR A2 1 S R R R A IR AR D I, el AR, 25 4
2 Nz Lt — B RA BV A IR R . #§i%E C,
3.[&R]A,
(#E47 ) 4% b —4) 55 L Ui EE R AN A IR AR M BB AT 0, 2548 J5 A but KR4,
W, LN ARG RERTTHN . Bk A,
4. [&ZR]D,
(#E47 ) 4% ) LU AT SO ARG B, , 55 L6 DML EF- e, AT WL 55 LR ATE T iX
Fig B8, A SE A A B AR A =T BT o ik Do
[&%iFx]
*t BRRERFEAEAE,
B A4 RERR?
Sk BACNR Y o, @B R F T P AR,
Bk EEARRAA N LA E VAT D?
ok BBRN RRARLSRELE L, RTHRART 4,
B AR Z B TR AR
X RNMFER,
£ AR T ARG B A AT P
do = ATA A A RARF 2,
Bt e TR, EAARA TR T
ok AR A,
B RABEANAELA,
Dialogue Two
5. [HFR]C,

Dialogue Completion
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(R4 ) PG TT 3k Alice BEARIGAEE B2 AN X BRI T , SR )5 Alice 65 25, 2546 5 [ 1%
& Alice fi# e pr ) AR . R C 3 [ BUR IR & s R R K f5 64
Mo Wik C,

6. [&X]D,

[ #R47 ) 254% b —M] Alice ULUeRFZEMH 25 T, B A B A h dezs i, N —A) Alice MR ESFG

[F) 23, AT D25 4% 6 Kb N iZJ2 Tracey Xiiji Alice it %, kit Do
7. [&X]B,

(FRHT] 2 46 J5 — ) Alice Uit 4TIF %5 5, JF o XUBS , RE AT 550, BT 20, 25 4% 7 A B 3% 2

Tracey [i] Alice /8 ARERL . #i% B.
[&%iEX]
Tracey : 4R eg '8 A A T RAD? XERKAT,
Alice: A=, HRALRAGRXNEAD? FEERNG XD ADERE K,
Tracey : &% 48 2 R %% X .
Alice: R ERA L L& BET ., HAGH T RZA,
Tracey : /R F#L LM E X T o
Alice : 122 K475 2| & F 2] 49, ATk~
Tracey : AR A AR & A & X AT
Alice: ZF 5, F o R B, LREF— 5,
Dialogue Three
8. [&Z]B,

(A ) X8 T3k 2 1 a) 55 VR B R b A e e 5 A e, 55 1 33 A A B AR A A S IR 55
WUE . Bt )E & LU AINE — BRSO T AW E & SIS , 5 L UL R
VA, AT LS A% 1 AN A2 B EANE AR AIHGE . §ik B,

9. [HFR]C,
(R4 ] 2 M AT T UL 2 AR H R Y B, SRS 350, A C TR 28 46 mires 20— 2, ik
W HERE 53— ikiESy B, #E— Ul A LR 55 400E Y H Sl AR 07E . iltE C,
10. [&R]A,
[ R4 ) 25 A b —m b, METE A AT I A B I, 25 4 10 Kb 1 322 U A8 (1 3t 7y, BE 0T A 1At
B T 2R AR B, a0 R, #k A,
[&%iEX]
4t ARMG BALEA A IR SR E 7
B LA BASAAAALRSRE, 2R REFTAE,
S —EHEEE , RETFEEALARET
B ARAEIR R LB
T ATEREEZLY B, RHETARES —ARET B
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B RHR! AEE AT KL D7
S AAIEMRT H R BT B
B BMNAMBEALHGFOFARGRE,
Part [ Reading Comprehension
Passage 1
[AEHE]
AL FEYHAPIGR A ZER A TR RS IATE, N A TR M. CESIH
T AT R N i XU T B AFAE R AT BEPE R OGO AE B . SR H RN B X ity A
AU B AR fk, — BN, IR O T A R e o Dt , B AT ASCE SR 35 1 .

[5%Fx]

HERMNCERI TIERAEKMARALAE—NERITEWIERE, E—WEAEF,
DI i NA X BT EA—FEFHIBO R RAYE LK RRLIE
7. XA HFHL LA Caltech 69BF R A AT - el - HALAY, AMEAT
AR ot EMABEM KB ZRAITE, 24 AL AR A X BT ZHITE ARG,

“ROTEHFERET S FMRE L - A A ZRIELE S IUKRAT E TR0 B 4E
il

HERMNAARBATETRHREZR L] 722 TRt A 4 T ERERARE—F,
KR AT R, BARACFAATE” R BAHH 10 ARARA K, 4o R X ARAAE T EH Y,
MLAXBHENAITERRAKMAZNFENLRFTE, BEEEZ—HAMIAARZRKMERF LKA
E,A83%2006 F,CFHMEHNPARABRITE,

AT E G ERERAIERA — AR, “EHFR—HAESGFIRITE,” F A
BEFEE,AEAR, RABBRAEGITERLIR, mX AR FH M, SFTRATKME R K3, X2
EF TRy, XHLPLEA L S THREFHARMNERIA, XA EAETES

BRTZEAFF—RXTERATEGRA 2HF RMNFAATELE AR LR K,
RIFOG LR AR A KRR H AT R, R, ML ES ARG EIEMKRFE, 8L
BB IS XTHNATE BEATHE AR KA R I E S % vm 6912 8

[ 15fRAEHT]
11. A, [ERL) 4 =Bt 4" The scientists said it would take this planet 10,000 to 20,000 years

’

Caltech

just to make one full orbit around the Sun.’
[ BRI AT8 EA A AR B2 A TA N X AT B RETE A8 1 1 73 2
T3 AR ] A RE 5 B b 8K PR e — Jl o DRI T DA T o 3 A 7 R R S8 R BB AT 119 o
W A

12. D, [EfL) 5 BTk “My jaw hit the floor...”
(BRI A, 55 Bolive - A MUY b & U AT 2, T BB F T,
XAJFRRA NRRF R . #3% D,

HEAM(—) AEERAMI 3 R (£12 1)

13.C, [ ZE L)% =B fx)5—/)“Pluto had been called the ninth planet until 2006, when it was re-

’

named a ‘dwarf planet.
(B REM] 48, e A B ER —EHANE KRB IJLRATAE, HH 2006
L, EABERIHENEBITARE” . IR C I A U, Uk C.

14. A, [EAL] 5 MEL .
(BERFM]LEE 08, B.C A D BEI 55 BT IR 2110 B LUk, HA P
FLIERAT RO, X 22 26 =" 7 J& s A PEIUARF& 5 DU BEEH — ), il A

15.D, [EfL) 5B 1B,
(BRI, 5F—BHRE) T RCH BRI AU, 56 T BR 3 T Se kY B
BT, R KRB AT A $2 12 , itk D,

[ E3iRIC]

1. evidence JE#E

3. simulation 54}

2. orbit ¥ B

4. astronomer Ffj b

6. solar system K [HZ

8. substantial JCHE 1 ; 525 Y

5. mass Jiitg

7. ancient g1y
[ ¥RfRHT]

Pluto had been called the ninth planet until 2006, when it was renamed a “dwarf planet. ”
A0y when 5|3 HAEBRE VERE T A, JeAT iR Dy 2006, AR until o], R #]--
Mk .
Passage 2
[AEHEE]
ALFEEG T A 22" EILECEE” o S RA - AT Rr - a3 64 45, 3] 11 1
EIMHLACEE 72K, OF Hos i AR A N, sz T BHLAC BB R o

[5%FX]

CHAMKXRXE" RBGTERY FRAA TR TEEGFEOLE, IALERTFEA
A 20 #2260 FREH, AAMBELFRAIN—HFBSET XN LT, 54X, ARG L
J biX sk F SR A B AR Y K, AT AT o SAAT B 2] 6 F K K 5 364,

KA - ARMATH LI B T — A B o (S TR IR — A RAFA) . 5P, 7| 4k # &
I FE B A A I ALK K H

“EEWMRE B, R R AR — R E R 0K AT R R T
B RZANG AT, Bk, RLAERYPET, MERFGRA, F LRI EHFHY
X F——HATVE BRI T B & T bR R, BT AR L IR B e R AL, R B R X SR,
HAniX B ES , BT XL AR TARIFE R Rk, HZERERITANMERN—X
B RBIAEFEEHE—— AT LW ETFRA BN T HEZTHEFFSOmE T &,
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AHRETERARSEMEFR, LERNELFZTHR AL,

RA - RIS R ARE R IRABRF —F R TN IE, EE2FFRZTE
TR R B o, NFEFEMRBIER, £ LK P RAFRIF G R G, BRAREARTLR
A,

A — B R F R TR R P AL kAR K EGEETIR S B, AR A AT A -
MM AT AR BRI B L A T LR KEIR BRI A THFLT,

[ #EEIEH ]

16. D, [EfL) % —B55—/%]“ ‘ Helicopter parenting’ describes a style of raising children where
parents are over-protective and do too much. ”

(BREM] 48, B UIFeTE T BALACEE” 48 1 BRI 72Ot b T & il
THZMFHCE, X5 D BUERAA, M A BUE R5EH ;B . C TR EE X, M
SRR KR . ik D,

17. B, [EAL]% =B
[ ERER) 408, 5 =Bh o2 7 =Fh 28, 43 5l & over-protective (C 1 D i) ,
over-directive ( A I ) £ the concierge, =7 B I “ /07" WA $#23, iG% B,

18.C, [EfL) 4 = Bdg /o — 4] “ The third type is the concierge—the parent who just wants to
make life smoother—from waking their kid up, to keeping track of their deadlines, to mak-
ing sure they haven’t forgotten anything, to even doing the homework for the kid. ”

[ BFRERMIAE RIEEAA, TR BN KRB 2 RS 2 R T4
TR R . A WiJE T over-protective [ACEE; B Fll D WUARBRC A 1ECHR ], HA
C J1 1 “keep a close eye on” RKF/n“ N ZICTE" B, ik Co

19. A, [ EAL) 5 PUELSS 4] The incoming students were very smart and accomplished on paper. ’
[ B3R ) A0, AR LAy m] 0 BT AR BRI, i HAE I URSHE R 0TS . Uk Al

20. B, [ L] IEL
[ BERIEM ]S, )5 —BRW TSR AR Z 05, MG 5 -5 I A 15 A 32
PR IX AL BE AT TR % B A KB R IR A C 4R T o X UL B AR AR 45— 2R3
XFF BTSSR E RS . ik B

[ SRR ]

1. helicopter H J}#1,

3. unpredictable A 7] i 1 4. concierge FH[JA

5. keep track of 5---{F#5Hk R 6. accomplished B\Z:1Y ;A £ I5 1Y)

7. remind $2EE 8. take care of H&Jii

’

2. hover Ef&

[ MR ]

The third type is the concierge—the parent who just wants to make life smoother—from wa-

hEAM(—) AEERAMI £5 T (£12 1)

king their kid up, to keeping track of their deadlines, to making sure they haven’t forgotten any-

thing, to even doing the homework for the kid.
AR BT S 51 ARy , BROREF T 4] 7R 50, 5 R 7R iR
Passage 3
[AEHE]
ARSCAER T AR BRI B PN % B B80 ik 1 A T ek K 266 ) BRI ) A AN SR DL DR A b 3k, 4
FAfn, B BA Z TN E . P, SR I 2 A R

[&%iFx]

3052 R EAKE—FOMBMBLERT, AL, BHFRNFLBERAERT
IR T AR, B AR E 28 Bp 430k A5 A8 R TR E 2] 2050 5 90% o4 3 3 46
FREAGLE, o B RRIA I H AL LA B, A6 & 16 R4,

WA A B R -FIHE T TRERS, WHBEHRAHFGHAFT IR, B A e
ABEFEYRBET RRORP FE, RN, CIEARENZELRYPEAX LT RBRAE
ERPEgs

MM TRALT AR FTEAARLABRER, BRG] TRAMGHE, BLAIEYG T Lk
LM R EAGZFRN, B R AR 250 K42,

WA ATIR G R AR, PRI 1 ~2 LA A AR L R B 6K
R BE MABRSLE—NEAFRAZG HEIRF BHETREGE, wREXANATERZLEN
89, AT AR W R A 0 B S e R A KA 6, B ARG R AR AR IR, 1998 ik AR
AR KGR, AROMBBEZTTRASENIZE, B, PG T ERITFH
U T, LB BT RIR

R WAL TN F R T R, T & = ARG B8 A B, 12 23R A BAR AR
AAFRMNE ALK, AFEN58H BIARKMBEEH R, AL 25T AL
GHFFRT o

[ FERRAE)

21.C, [EhL]%H—E.
(BREM] BB, BT A2 DR WB—IU 50 S0 e FERR 27 AR YA S — Bl ek
50% P C 250 T, I HLBE A Sl , A mT RE K 48 , I HL 4 SCHR 2 Bl SE el ik
RV o C 35 SRR T I K 4 S YIRS, ik Co

22.D, [EfL) 5 —Biic)5—MJi% “ If no major steps are taken to address the problem, the reefs

’

may be headed for total extinction. ” ,
(B R ANCRE . T R 12 55— BErh Y address 3T LA R BIR— 30T A 5 3L 7” address
TN N AP T ELAR IS RE A0 QIR AN SR B A e -« , S i K 4 L e
Wit address JZ45 REAR ke | b BTk 52 B AR R AET-AY IR, A J0“REIRT 3 B 30T IR
RF75C Wik, OB ;D T Kb B, Aok o gk Do
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23. A, [EfL) 5 B4 —/A)i5“ They are often described as ‘ the rainforests of the sea’ , because
they provide shelter for a wide variety of sea life. ",
[ ZroRiEM ) A, T IR O 2 f SIS REE R Oy © T R R FRAR 27 AR < 2 4]
“IIRERCE Y IR PRI RO EA D e A By fe it T R AR B PR 5 . RT3l
SRR TR ROVE ] AR ORI e A R Oy T . BARTESCrR R X T B L H U, O
ANREVR LI IR A TR BT R AR R . Mok A

24.D, [ B )% DY B = /4)i%“ Then the corals turn white in a process called ‘bleaching’.” .
(B8, BT AR B R b, I 28 U 4B 27 AR S 37 )
G W ST — DR R R R, B B A AT S S X i
e . 3k D,

25.D, [EL) % 1 B2 55 — A 1% “ Although reefs face other threats from pollution, industrial
activities, and overfishing, it is global climate change that most concerns scientists. ” ,
[ ZFSRUEAMR ] 4015/, AT 10 A MR 0 4 S, SRS 1 i g A2 A 77 AR A0 7 o g < R
I AR T 1 PREE T 5 (A 30, TDolb AR 7™ (C 300) LA Rz BE 457 (B 100) <5 HoAt gl by, 12
IR (D ) ARIRE R A Z AT FYE R o™ AT, S8 38 ke v o 1) Ui A AR 22,
ERFHAZIA N BRI B T2k, ik D,

[ S5RAIC]

1. ensure A4, fRIE

3. global warming 4>BR7Z %

5. a variety of £ FF&FERY

7. tourist JiF %

[ AR AR

1. It is estimated that even under the best of conditions, many of these coral reefs will need

2. survive A 17 (715

4. depend on K&

6. in addition FRILZAb, 047
8. short/long-term %/ 11

decades to recover.

AR it is +adj. +that Wa]ig )=, it HOBIE R F15, HIER) FiH2 that Z SN A E
B UGIZ A4 24 F many of these coral reefs will need decades to recover even under the best of
conditions, which is estimated, /][] estimated fi# BN “ HRfliit" o

2. Although reefs face other threats from pollution, industrial activities, and overfishing, it is
global climate change that most concerns scientists.

/A ) ) R s A A it ds...that, SRIEF> A global climate change, 7] L) % & what sci-
entists concern most is global climate change, M /]>A although 5| i RIE N A, Tm R

%...{E%‘E...”O

Passage 4
[HAEBE]
AT EB o> KA B2 A S 1B DR K A o R R ke K BRAE 38 8 4, X oxis

HEAA(—) AELEBEM FTR (F12R)

BRI . AR EERDIRREK , il AT AN R A
[&%FX]

HF R, KFAENMNA T R AR —& AN RAF ) R KRN B2 RIEME 5 6K 6
FXES, 122, % EAK BRI A F A RATHEKRGTA . ABIE,

RAn, B M KA IE S ALY BT K FHAT (2R E 2Tk, S AP 5] 2 F 20
SR F, AERFATE LG R BAHER, AL GRS EARRT 4" F6HE%E,

REAAAEF A ARE RS R T ERE, FALT RIS, MFh G TERGA
AR IRIRFE R IR FITF O, PT VA LK R AR B0, HRK3E AR SE W A& =T B =T 1
IAE R RHALA I F AT e

— A& A B RALER” 69 LR F B R A R W A, A A IR B R A
HAR AR A R R B 8 MK, — R8T 49 £ 4 e BB BAHMME A, —F K% 1,400 £
o BIMAEA—FLH B HFEAE DN F R AR IPAR, KA AR,

H AR TAE RFEARGFFETAUE T F AR F R, FE ARG R & F AT A XA AT
%5 b —FR R, RAVFRARBAHIT R T LR EABR R T RG— N5, St
S AR AR B HAT L3, M AR AR P KA KRG B RER RN, B MR TRHERRE
Bk 6 AT KA R AR, AR KR R AR R A A

W)

[ #E AT ]
26. A, [EfL] 43,
(BRER] EBEE, BT R T TR R SO 2" MR8 ST R, S0 2R

T A E R A SO I BR 5 AR K B (8] @, B I 7 22 [ 5K 4K 1k I BR 1 L B O
K BIR ] R T SO AR 5 © I R K AR P RO B LT O B AR (B
YER EZNE ;D W2 NSO K AR B W 5 R SR AT . 0k A

27.D, [ B )% DU — 41 “ The group claims that eight glasses of water a day costs each per-

’

son 49 cents annually, while drinking from plastic containers costs $ 1,400 per year. ” ,
(BRI MR AR K SR HE R R , "B K —4RK 4
L DL RYEE AL B IR LS BRI R W 8 MK, — 4R AE 9 49 235 AR i 28
BOREK , —4RAE DR 1400 36507 TR AR, D WY 1400 K55 JESCHHilIAR , Bk Do

28.C, [EfL) % S —/A)35 “ The controversy over bottled or tap is not limited to the students
and college administrations. ” ,
[ BFREM AL, TR A2 26 LB controversy 18 SR I LR WF—3517” contro-
versy ARG AHE, P o A TSR 5B TR C WU ARE, 487 s D I BRiR” . AR
I8 7] A T TR K BRI A AUR BR T2 4 S A g 27 Al il C

29.D, [ EfL )5 HBHx)G =/4)i%“ They argue that plastic bottles make up a small portion of the
nation’ s total waste. It’ s unfair to single out their product when so many other items are pack-

aged in plastic containers. Plus, water is a healthy choice compared to some sodas and juices

hEAM(—) AEERAMI %8 T (£12 1)
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that are also sold at schools. ”
[ ZFRFMR ) A0 o T IR A R /K T 3 R B S B 2 AR A ) At i Tk 9
BHHLIT G A5 5 R A RS Y — /N 20 o 25 At 7 il AR B R SR A0 e T e
K SR HE R K R Ao 53 A, AR T R R A el B AR ) 5 F T KRR TR
B, IKARIR R SR A B HE 7 Al 0, B 5, AT AR PR /K BT 1 A 175 % LU BN R HAR ik
A HABARZ 7 it 2 R 5 P, RS el B S ) LA OREAR B, AU AT A 72 it 2 e A e
FER) . A B.C =IUAMF G RICHIE , fiik D,

30. B, [EfL] 5 —Bt% —/M)i%“ The bottled water ban, which started on just a few campuses,
has now spread nationwide to more than 20 universities. " ; £ PU B¢ % J5 — /1) 35 “ Plastic bottles
contain antimony—a chemical that in low doses causes depression, but in large doses can even
lead to death. ” ;58 T Bt 5 —A) 1% “ Plus, water is a healthy choice compared to some sodas
and juices that are also sold at schools. ” ; 55 = Bt 55— /)15 “ Many people believe that producing
and using bottled water wastes money and harms the environment. ” ,

(B ERUEM | A0, T IR 02 AR 3, TR B MR LE A Fr 2 AR 0 o ) R ) , A
K 112 3l RAEDBU LI R 04T  BAR POl & 1 Tk, a4 i 3 42 [ 20 2R K.
(A T ) s “ BORURS A — M 208 86 ik on R —— /N i B 25 DR AR, IR it 1)
B (B IR ) 5 F34h , MBS T [ AR AL fel B B A R AT /K AR OB, KA IR 2 e fit
FRAZERE S (C W) 5 “AR 22 R A A A 7 R R 7K 2 3 A0 9T 4 TR 2%, OF HLT5 4L 3F
%" (D Wik ) al [, & 580 R B BURAT & 3CH FUERY, ik B

[ E3miRIC]

1. civil rights 2\ R AL

3. approach Jj ¥, #18

5. depression

[ MR ]

1. The bottled water ban, which started on just a few campuses, has now spread nationwide to

2. anti-war [ i)

4. container 4%
6. portion L]

more than 20 universities.

WAl 4], F/4)N The bottled water ban has now spread nationwide... , 1 I BL7E 1 3y
SMREE R which 515 T HEBRE P T8 WA, A Se i W 13 ST ih i 970 Bl AN

2. The group claims that eight glasses of water a day costs each person 49 cents annually,
while drinking from plastic containers costs $ 1,400 per year.

PR & A that 51T B9 EEE A, D)6 55 19 0] 235 A AR A9 8, S AR DA 28001,
HXS FERIRICR
Part [l Vocabulary and Structure
31. [&X]B.

(33 32 ] Al D0 Ao PRIMEAS ) A 25 B 5 350 T AN [R5

BEAA(—) AELEBEM FOR (F12 W)

32.

33.

34.

35.

36.

37.

38.

39.

40.

[ #EHT ) A5 A i) 4 HEAT . arrive at™ $357 slead to™ 33" ;cause by“ 5[ #2” ;turn out” 454
B BEAAEMGE B,

[BEX]A,

(3% 32 ) 64 BURHLI 7, BRA T8 7 1T LA 24 /N AIBGHPIL_EIBCHE Al T T %

(MR ) A i ) o 1 oA ) A A DB L Ak 3L P8 42 5 T ATM ALY BT R B
5, AR Fe b s o RN ERLATEY 1 K 24 /DR, Bk A,

[ZX]B,

(3% 32 ) A SR X T FU3 e AR H AR 58 B TARRER T, R4 AR SN wlKe i I 545 570 3

[ 47 | A% 2 A e U . A U to be completed 1F 5 e 15, BN A 58 1L, AH
24F which is to be completed, fif(i% B,

[Z%£]B,

[ 3332 ] an2ipiRafe sl /N f) 244 il B 53X AR BLAR AT, URAR DRl 2 0 24 1 J R HE AT 26 5 1Y
Hefih o

[ FERAT ) A% 25 47 il i) UHEMT . carriage Th 42" ; contact“ $% il ” ; choice “ %7 ; circuit“ Hy
BE” o G GE B,

[Z£%]B,

(3% 32 ) 4n SR A Wt i, AR ME A — 4 T

[ #E#T ] A% A i) . IeA AR AR AR 2477, FITE ABRARIH , 3 B,

[&X]B,

[IFX)BHAZR A 53 J7A/INB T8 18 TC 0 2] (1 HAth ) 1 th 78 [ 58 5 b BRIER .

[ AT ) A B AR BUAE S i) o AR FBAE i) S EA R BEARE: , AR X Se W IR (RS, i B
[BER]A,

(B SC] U6 R A, ] RER A ARk R 4t

[ #EHT ] A% A [ F4 L . in terms of FRoR“ AKIR, #IR, 76 - 5 T, AR BRIy [ 5
PEIL, Ok A

[BR]C,

(3% 32 ) b 22 i A K 08 DL 3ot 4 T P R A T 45 0 25 1) S — RE A1) Lo #

[ AT ) A 2 A R B A N 2 o {20 ) v F2 9 B4R, i L) have BEAE he FifTE . HLik B
AL 58 JU 27 At Z AT MR B Lt , B LA i has seen , (% C,

[ZXR]D,

(3% 32 ) 4R N AEAEXHI—AN 53 N sl AEAT A C T E 2o

[ R4 ) A 8% 25 what 5|3 (194 1) W A) . what 7233 BURT S 2 it (2235, iE D,
[ZX]C,

(3T )A AR R 5 15, ROZ B B 20 &0

[ AT ] A% 2 [R5 T . as s often the case J& [ 5@ #5TL , 7>

hEAM(—) AEERAMA $10 T (£12 1)

NN XA



R 5 H R ik C,
41. [BER]A,
[FEX]EHRARAEE,
[ #8347 | A5 25 S BRI BEMT . whether 675 “J& 57, — AN “or” 3%, 414 K whether...
or..” M A . Wik A,
42. [EXR]C,
[ 3% 32 ] 36 1 A [ A b2 KUB AR M .
[ R4 ) A% 5 Zh iR B AT, join“ A, ZJiN” ; take “ BUA5 " ; share “ 43 =2, JL 527 ; make “ fifi
87 RIaE, A CUifamE, ik C,
43. [EFR]A,
(IE0] 5T, R TS i SR iPad 7 I,
[ FEAT ) A% 2 305 ST AT o bring™ A7, 2ok FRHERE M S A 55 — A~ Hb oy 7 31 3
()} )7 >k ,bring sb. / sth. (with you) J&[EEFEHD, B4 - BIHEAL” s take 4l 57, FR AL
Wi RE N D THE T 1) s 31 55—y 25, H RIS 1A to # A IE s fetch ™ BRI 5 put™ it &
e A
44. [BER]A,
(3R] — =B s 8 B e —H%
[ SR ) A% A 30T SO HEAT o B SR DUTI 3 SCHEE , R i ok 37 . (R )2
FRJ7 i, R A T ground floor, 7R« —#E” MUk A,
45. [ E%]B,
[0 ) &% PRI R 31T, B A T TRENC BN SRR BUAN T V2 AL o
[ @A ) A% 5 3 i) 4 15 Wi M . come up with“ 48 %1], %" ;look forward to“ " ; make
up for® fy---#ME" s get rid of “ AP, AR, ARHEA)E, B B,
46. [ZR]D,
[ #F 3] 3RAE 4000 ek T —F-%
[ R4 ) AR A 0T 1 P . 76386 A BARECF 19 T 00 80t , SR80 XY thousand ; &
A BT, HEBOE A, R 4 LT sthousands of Sy [ E#ARC, R “ LT 7. X H
8 T AR BT 4000, i53E D,
47. [E%]B,
[FEXIREAT? BELEREAEA.
[ #R47 | A A IS B S I B S . A N BAE TS 255 B 0N — MRIAERS 25 5 C W BAE
SERUET A s D WU — et AR . A S AE T RPRES  H— AR S B AT it B
48. [ER]A,
(3F ) R 6~ RATERK P LITHET .
[ fR AT ] A% A Pk R T AR B S I 25 o 25 A AL A PR REIRIE A 38 1 shinl, s fl 4L

BEAM(—) BELZAMH $11 R (12 R)

PRI A AR A SR, T HL S A R TE TR R R SR Ok A
49. [&Z]B,
[ ) B &7, KA USRI T o
[ B4 ] A 22 [ E F5TC . only to do /R ARITE &, WAt E---" o ik B,
50. [&%]B,
[ %32 ) AR FRAC B2 F R AF AR R B K
[ #8347 | AR 155, FiB N either...or..., IHIERZ A or 2 J5 10 FiBR 1 —, #&
1% B,
Part [V Translation

BEE I ORI, I AR 2 4R 8 AR B 28 AT P IS AL . BTIRTENSHL B9 B i
2b N B AR R A R RAE . SR, 7E P EE g ek, A i 2 2L BB e.
s wictE, B —EAR B ANRE ALY, JCHA BRGNS ER A [,
FLAE M ARERAE F A5 E B, MR O fEE L,

Part V Writing
[B53Ex]
The Best Place I Want to Go

Nowadays travel has gained great popularity among people. Travel is a good way to broaden a
person’ s horizon and make one come into contact with different cultures. Travelling much will not
only enrich your knowledge and experiences, but also bring you enjoyment and pleasant experi-
ences.

My favorite place of travelling is Beijing and I have been there for three times. I like Beijing
for the following reasons. Firstly, Beijing is the capital of China. With so many places of interest,
Beijing holds a lot for us to see about, such as the Summer Palace, the Great Wall, the Beihai Park
and so on. Secondly, there are many tall buildings in Beijing. It’ s a modern city. The Beijing O-
lympic Park is such a great tourist attraction that countless people visit it from worldwide every
day. You can also buy lots of souvenirs in WangFuJing. At last, there is a great amount of deli-

cious food in Beijing and my favorite is Beijing Duck.
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Part | Dialogue Completion (10 points)

Directions: In this part, there are 3 dialogues with 3 or 4 blanks, each followed by 4 choices marked
A, B, C and D. Fill in each blank with the choice that best suits the situation until the dialogue is
complete. With Dialogue One, all the choices will have to be used. With Dialogue Two and Dialogue
Three, one choice will be left unused. Mark your answer on the ANSWER SHEET with a single bar
through the centre of the letter that indicates your choice.

Dialogue One

Mark: There is a sailor there. I’ m going to ask that sailor if he knows where I can find a boat to

Mosquito City.

Mark: 1
Sailor: Yeah. What can I do for you, buddy?
Mark: 2

Sailor: Mosquito City. Oh! Wow! Well, it’s a great place, Mosquito City, buddy!
Mark: Ok, so I want to go there. 3
Sailor: No, but if you walk about a mile to your left, you will come across a big banana boat.
Mark: A banana boat? ...that direction?
Sailor: Yeah, just ask for John. He is a friend of mine. Ok? 4
Mark: Ok. Ok. Good on you.
A. He will take you there.
B. I want to go to Mosquito City.
C. Excuse me!
D. Can I go there on your boat?
Dialogue Two
A . Excuse me, can you tell me where the nearest restaurant is?
B: Oh, the restaurant? The nearest one is the City Restaurant. It s just opposite the No. 5 Depart-
ment Store.
A: I’m...er...I’m afraid I don’ t quite...you see. 5
B: I see. Simply walk two blocks straight ahead, then turn left, and the City Restaurant is about
10 metres ahead. 6
A . Can I take a bus?

AEAA(=) F1R (X8TR)

B. Of course you can. But 7 1It’s only a few minutes’ walk.
A ; Thank you very much.
B. Not at all.
A.T’m a total stranger here.
B. You can’ t miss it.
C.I don’ t think it is necessary.
D. It’ s not very near.
Dialogue Three

Helen: 8 Do you study Chinese at the university here?

‘\ + a —
BRI
FHUR A, AT A

Rose: Yes, I do. But my characters are very bad. 12 WS E A
Helen: 9 o 2 =
Rose: Are you Chinese? —{EE B on

Helen: Yes, I am. I came here to study political science.
Rose: 10
Helen: I like it so far. But my English still needs work.
A. It takes a long time to learn Chinese writing.
B. How are you doing?
C. How do you like it?
D. Excuse me.

Part [ Reading Comprehension (40 points)

Directions: There are 4 passages in this part. Each passage is followed by 5 questions or unfinished state-
ments. For each of them there are 4 choices marked A, B, C and D. Choose the best one and mark your an-
swer on the ANSWER SHEET with a single bar through the centre of the letter that indicates your choice.

Passage 1

Since the beginning of history, man has been attracted by the idea of living forever, of win-
ning the fight against death and disease. So far, this has only remained a dream, though a very
powerful one. Many people have wondered whether it would be possible to find a way to preserve
human bodies, and what would be the best way to preserve human bodies.

It has long been known that meat of fruit can be kept fresh for long periods by freezing; in
ancient China, for example, food was stored with ice to keep it fresh. This method could also be
useful for preserving humans, and in fact many people have explored this possibility.

However, most living beings that exist under warm conditions die when frozen. This is be-
cause of the harmful effects of freezing ice crystals( §4{4<) , which are not only larger than the vol-
ume of the water originally in the cells, but also form sharp cutting shapes that harms the cells.

In the 1940s Dr B. J. Luyet and a group of scientists in England were working on the problem
of freezing cells without damaging them. Since the harm caused by ice crystals was the main cause of
the damage, Luyet suggested removing some or all of the water from the cells before freezing them.

Using living cells from chicken, Luyet and his assistants discovered that they could partly dry
the chicken cells, using a mixture of the white part of an egg and glycerin( [§ =% ) , a clear, thick
liquid made chiefly from fats and oils. Some success was obtained. The chicken cells were dried,
frozen for a period of time, and then carefully unfrozen. Almost all the cells recovered when they
reached normal temperatures.

Since then, the cooling of whole animals to a temperature very much below freezing point for

AEAEAM(=) F27R (£8 W)



later unfreezing has become more of a possibility, and the glycerin method would probably be used
to accomplish this. When this can be done completely and successfully, science will have moved
much closer to its aim of freezing and storing incurable patients until the day they can be cured.
11. The passage is mainly about .

A. the possibility of preserving human bodies by freezing

B. the practice of preserving food by freezing

C. the harmful effects of freezing

D. how to remove water from living cells
12. The idea of freezing human bodies to preserve them .

A. comes from that of keeping meat and fruit fresh by freezing

B. was invented in ancient China

C. has already been realized

D. is widely accepted by the scientific world
13. According to the passage, freezing is

A. the best way of preserving food

B. a way of removing water from living cells

C. a way of realizing the idea of preserving human bodies

D. harmful to living cells and cannot be adopted to preserve them
14.. Glycerin can be used

A. to freeze living cells B. to unfreeze living cells

C. to remove water from living cells D. to change the shapes of crystals
15. The success obtained by Dr Luyet and his helpers was a long step towards

A. keeping meat or fruit fresh

B. changing the volume of the water in living cells

C. changing the shapes of ice crystals

D. preserving human bodies for long periods
Passage 2

Regret is as common an emotion as love or fear, and it can be nearly as powerful. So, in a
new paper, two researchers set about trying to find out what the typical American regrets most. In
telephone surveys, Neal Rose, a psychologist and professor of marketing at the School of Manage-
ment at Northwestern University, and Mike Morrison, a doctoral candidate in psychology at Uni-
versity of Illinois, asked 370 Americans, aged 19 to 103, to talk about their most notable regret.
Participants were asked what the regret was, when it happened, whether it was a result of some-
thing they did or didn’ t do, and whether it was something that could still be fixed.

The most commonly mentioned regret involved romance ( VR {8 193 ) (18% )—Tlost loves or
unfulfilled relationships. Family regrets came in second (16% ), with people still feeling badly
about being unkind to their brothers or sisters in childhood. Other frequently reported regrets in-
volved career (13% ) , education (12% ), money(10% ) and parenting(9% ).

Rose and Morrison’ s study, which is to be published in Social Psychological and Personality
Science, is significant in that it surveyed a wide range of the American public, including people of
all ages and socio-economic and educational backgrounds. Previous studies on regret have focused
largely on college students, who predictably tend to have education-focused regrets, like wishing
they had studied harder or a different major. The new survey shows that in the larger population, a
person’s “life circumstances—accomplishments, shortcomings, situation in life—inject consider-
able fuel into the fires of regret,” the authors write.

People with less education, for instance, were more likely to report education regret. People
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with higher levels of education had the most career regrets. And those with no romantic partner ten-
ded to hold regrets regarding love. Broken down ( 43 . 4143 ) by sex, more women (44% ) than
men (19% ) had regrets about love and family—not surprising, since women “value social rela-
tionships more than men,” the authors write. In contrast, men (34% ) were more likely than
women (27% ) to mention work-related regrets, wishing they’d chosen a different career path, for
instance , or followed their passion. Many participants also reported wishing they had worked less to
spend more time with their children.

There was an even split between regrets about inaction (not doing something) and action (do
something you wish you didn’t). But, like previous studies, the current research found that some
regrets are more likely than others to persist over time: people tend to hang on longer to the regret
of inaction; meanwhile, regrets of action tend to be more recent.

16. In the second paragraph, the author shows ;
A. the researchers’ findings B. the importance of family
C. the importance of money D. the importance of career
17. According to the passage, college student participants mainly had regrets about their
A. family and childhood B. study and major
C. career and job D. romance and fear
18. The word “notable” in the first paragraph is closest in meaning to
A. common B. capable C. wonderful
19. Which of the following statements is TRUE?
A. The less education he or she has, the more regrets she or he would have.
B. The more education he or she has, the less regrets she or he would have.
C. More women than men had regrets about love and family.
D. The regret of action seems to last longer than that of inaction.
20. What is the main idea of this passage?
A. How regret is understood by a typical American.
B. Common regrets is more important than love and hate.
C. Why regret is more important than love and hate.
D. How regret has shaped Americans.
Passage 3

Today, many people are starving to death. There is a shortage of food and the available food
is too expensive for hungry people to buy. Therefore, they go without food, or each day have only
one or two small meals lacking the necessary vitamins to maintain good health.

Recently,, a man who wanted to understand the conditions of such people conducted an experi-
ment. He only ate one meal a day for a month but continued to work as he normally did.

During the first five days he was hungry at his regular meal times, but after he had drunk a
glass of water his hunger went away. In the evening, when he ate his one meal, he ate quickly and
consumed a large amount. During the next five days, although he was not hungry during the day,
he quickly noticed every food stall. And the smell of food caught his attention. During the third
and fourth weeks, he had hunger pains and lack physical strength. He looked forward to his one
meal and ate it very slowly, enjoying every bite. Without it, he knew he would have hardly
enough energy to work.

This experience changed his attitude about some things. Having a cup of tea was not just a
pastime, it also gave him strength. He more frequently noticed overweight people and people who
threw away leftover food. He realized the importance of food for the very hungry person. He could
no longer easily pass by a hungry beggar on the street. But most importantly, he could now sympa-

D. remarkable
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thize in a small way with the starving people of the world.
21. According to the first paragraph, today the problem with many people is that
A. they don’t eat food B. they are too poor to buy food
C. the food they eat lacks vitamins D. not enough food is provided to them
22. The man ate only one meal a day because
A. there was a serious shortage of food
B. it was an effective way of losing weight
C. he wanted to know how hungry people could be
D. he could not afford to have three meals a day
23. At first, when he was hungry he found that a glass of water .
A. got rid of his thirst B. could remove his hunger
C. hardly produced any effect D. only made him feel hungrier
24. The experiment made the man realize that
A. most people are just eating for fun B. overweight people are wasting food
C. food has a different meaning for people D. leftover food shouldn’t be thrown away
25. After the experiment was over, the man might have felt that
A. hunger is less painful once you get used to it
B. a man can survive for years on only one meal a day
C. you enjoy your food more if you go hungry for a while
D. something should be done for the hungry people of the world
Passage 4

Scientists in India have invented a new way to produce electricity. Their invention does not get
its power from oil, coal or other fuels. It produces electricity with the power of animals. India has
about eighty million bullocks(/N4=). They do all kinds of jobs. They work in the fields. They
pull vehicles through the streets. They carry water containers. Indian energy officials have been
seeking ways to use less imported oil to provide energy. Scientists at the National Institute for In-
dustrial Engineering in Bombay ( 7 3£ ) wondered whether the millions of bullocks could help.
Many villages in India lack electricity, but they have many bullocks. And often the animals are not
working. One job done by bullocks is to pump water out of the well. The animals do this by walk-
ing around and around in a circle. As they walk, they turn a heavy stick that makes the pump
move. This simple technology is centuries old. Scientists thought that the same technology
could be used to produce electricity. Bullocks walk in a circle only two or three times a minute.
This is much too slow to produce electricity, but it can create enough power to turn a series of
gears (I %5). A large gear sits next to a smaller gear. As the large gear turns, it causes the smaller
gear to turn. That gear turns an even smaller one. Each gear moves faster because it is a little smal-
ler. The smallest gear may turn extremely fast. Clocks operate with gears. So do cars and so does
the device invented by the Indian scientists to produce electricity.

According to the officials in the United Nations, the idea is being tested at several places in In-
dia. The device is easy to operate and repair. And it can be moved easily. It costs about three hun-
dred and seven dollars now to make such a device, but production of large numbers of them could
cut the cost of each to about two hundred dollars.

26. Who first thought of using bullocks to provide energy?
A. Indian energy officials. B. Scientists in India.
C. Officials in the United Nations. D. Researchers in Europe.
27. Which kind of job that the bullocks do is NOT mentioned in the passage?
A. Pulling vehicles. B. Plowing fields.
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C. Pumping water out if wells. D. Carrying food baskets.
28. Why are bullocks used to provide energy in India?
A. Because bullocks have long been used by Indian people.
B. Because bullocks walk slowly and are easy to control.
C. Because there are few non-working bullocks in India.
D. Because there is not enough oil in India.
29. In the sentence “This simple technology is centuries old” in Paragraph One, “This simple tech-
nology” refers to .
A. using bullocks to produce energy
B. using pumps to draw water out
C. having bullocks walk around to make the pump move
D. connecting gears of different sizes to produce electricity
30. Which of the following is true about the device mentioned in the passage?
A. Tt has a large gear and a smaller gear. B.It’ s easy to use, but difficult to move.
C.It’ s quite cheap. D. It’ s still being tested.

Part [ Vocabulary and Structure (20 points)

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices
marked A, B, C and D. Choose the ONE answer that best completes the sentence. Mark your answer on
the ANSWER SHEET with a single bar through the centre of the letter that indicates your choice.
31. They left London for New York the morning of September 10.

B. on C.at

A.in D. of
32. Jim can’t go to school today his illness.
A. in spite of B. in front of
C. because of D. far from
33. With the of a computer, one can do what was impossible in the past.
A. age B. air C. aid D. aim
34. We must make our minds where to go for our vacation this winter.
A. out B.up C. for D.in

35. China is rich in natural resources, but they are not evenly
A. dismissed B. contributed C. disturbed

36. Taken in time, the medicine can be quite .
A. effective B. affected C. efficient

37. If workers had been paid decent wages, profits so great.
A. wouldn’ t have been B. would have been

D. distributed

D. sufficient

C. would be D. were not to be

38. If students can’ t focus on the spoken word of the teacher, they not only lose to
learn; they actually lose ability to learn.
A. desire B. power C. need D. wish

39. There is nothing
lish easily and well.
A. specific B. especial C. particular D. special

40. The proposal that business companies guided by professionals for their new scheme of
developments was accepted without disagreement.
A. was B. were C. be

about a native English-speaking teacher except that he speaks Eng-

D. are
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41.

42

43.

44.

45.

46.

47.

48.

49.

50.

The doctor me to the danger of not getting enough rest while working overtime.
A.led B. persuaded C. alerted D. reminded
. It seems quite unbelievable that a man like Jeremy could be in questionable deals.
A. involved B. lost C. participated D. taken
It is necessary to put bottles of pills out of :
A. reach B. hand C. hold D. place
He spends several months the wild horse.
A. to tend B. cultivating C. breeding D. to breed
It is because she is too inexperienced she does not know how to deal with the situa-
tion.
A. so B. that C. so that D. which
Some developed countries are trying to the serious problems resulting from the energy
crisis.
A. step up B. cope with C. cut off D. end up
He is such a man who is always fault with other people.
A. putting B. seeking C. finding D. looking for
After he retired from office, Rogers painting for a while, but soon lost interest.
A. took up B. save up C. kept up D. drew up
They plan to a number of new products for show at the exhibition.
A. lay aside B. lay off C. lay down D. lay out
The population of the world is growing at a dangerous
A. step B. rate C. measure D. progress
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Part [V Translation (15 points)

Directions: Translate the following passage into Chinese and put your translation on the ANSWER
SHEET.

Parents in China are always trying to help their children, even to make the most important de-
cision for them, regardless of what the children really want, because parents believe it’ s all for the
benefit of their children. This has led to the result that the children’ s growth and education tend to
give way to their parents’ wishes. Once the parents decide to sign up an after school class for their
children in order to increase their chance of being admitted to a good school, they will stick on
their decision, even their children have no interest in it at all. In America, however, parents tend to
respect their children, especially when making decisions. Perhaps it is commendable that Chinese
parents lay much importance on education, but Chinese parents still need to keep the balance be-
tween the parents and children in the perspective of education as the American parents do.

Part V  Writing (15 points)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic: On
Food Safety. You should write in no less than 100 words, and base your composition on the outline
given in Chinese below .
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